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#include <algorithm>
#include <cstdio>
#include <cstring>
#define maxn 300
using namespace std;

int lazy[maxn << 3]; /0000000000CO0O
double s[maxn << 3];

struct nodel
double 1, r;
double sum;
climaxn << 31; /000

struct node2
double x, yl, y2;
int flag;
plmaxn << 3]; //[[]

//00sortd O
bool cmp(node2 a, node2 b a.x < b.x;

/10 O
void pushup(int rt
lazy/rt] > 0
clirtl.sum = cl[rtl.r - cllrt].l;

clirt].sum

clirt * 2].sum + cl|rt * 2 + 1].sum;
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/10 0
void build(int rt, int 1, int r
r-1-=>
clirt!].l = s[1];
clirt].r = C
build(rt * 2, 1, (L + r) / ;
build(rt * + 1, (L+r) /2, r);
pushup(rt);
clirt!.l = s[1];
clirtl.r = sl[rl;
clirt].sum = 0;
//0 0

void update(int rt, double yl, double y2, int flag
clirt!.l ==yl & clirt].r == y2
lazy|rt] += flag;
pushup(rt);

’

clirt * .r > yl) update(rt * 2, y1, min(cl|rt * .r, y2), flag);
clirt * 2 + L < y2
update(rt * + 1, max(cl|rt * 2 + .1, yl), y2, flag);

pushup(rt);
int main
int temp = 1, n;

double x1, yl, x2, y2, ans;
scanf("%sd", &n) && n

ans = 0;

int 1 =0; i< n; i++
scanf ("L %Lf SLf %sLf", &x1, &yl, &x2, &y2);

il.x = x1;
il.yl = yl;

Y2 = y2;

.flag = 1;
nli.x = x2;
ni.yl = yl;
ni.y2 = y2;
nl.flag = -1;

= yl;
n + = y2;
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sort(s + 1, s+ (2 *n+ 1)); /00O
sort(p, p+ 2 *n, cmp); /0000000 DOODOOODOOO
build(1l, 1, 2 * n); /000000

memset(lazy, 0, sizeof(lazy));
update(1l, pl0O].yl, pl0O].y2, plO].flag);
int i =1; 1< 2 * n; i++
ans += (p[i]l.x - pli - 1].x) * cl[1l].sum;
update(1l, plil.yl, plil.y2, plil.flag);

printf("Test case #%d\nTotal explored area: %.21f\n\n", temp++, ans);

0;

20000 hdul828

#include <algorithm>
#include <cstdio>
#include <cstring>
#define maxn 5010
using namespace std;
typedef long long 11;

int

lazy[maxn << 3]; /00000000O00O0OCOO

11 simaxn << 3],slimaxn << 3];

stru

cl

stru

p
stru

ct nodel

i, r;

11 sum;

maxn << 3]; /000

ct node2

1l x, yl, y2;

int flag;

maxn << 31; //[[]
ct node3

1l x1,x2,y;

int flag;

ppimaxn << 3/;

//0 0O
bool

bool

//0 O
void

sorti [
cmp(node2 a, node2 b
a.x < b.x;

cmpl(node3 a,node3 b

a.y < b.y;

pushup(int rt
lazy/rt] > 0
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clirt].sum

clirt].r - clirt]._;

clirt].sum = cl|rt * .sum + cl[rt * + .sum;
/10 0
void build(int rt, int 1, int r,1ll s
r-1=1=>
clirt].l =5s[l];
clirtl.r = ri;
build(rt * 2, 1, (L+r) / 2,s);
build(rt * + 1, (L+r) / 2, r,s);
pushup(rt);
clirt].l = s ;
clirtl.r = sirl;
clirt].sum = 0;
/100
void update(int rt, 1l yl1l, 1l y2, int flag
clirt].l ==yl & clirt].r == y2
lazy[rt] += flag;
pushup(rt);
clirt * .r > yl) update(rt * 2, yl, min(cl|[rt * .r, y2),
flag);
clirt * 2 + 1< y2
update(rt * + 1, max(clirt * + .1, yl), y2, flag);
pushup(rt);
int main
int temp = 1, n;

1l x1, yl, x2, y2, ans;
~scanf("%d", &n

ans = 0;
int i = 0; 1 < n; i++
scanf("slld %lld %lld slld", &x1, &yl, &x2, &y2);
plil.x = x1;
plil.yl = y1;
plil.y2 = y2;
plil.flag = 1;
pli+ nl.x = x2;
pli +nl.yl = yl;
pli+ nl.y2 = y2;
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// printf("slld\n",ans);
memset(cl,0,sizeof(cl));
sort(pp, pp + 2 *n, cmpl); /000000O0OOOODOOOOO
build(1l, 1, 2 * n,sl); /000000
memset (lazy, 0, sizeof(lazy));
dtmp=0;
update(1l, ppl0O].x1, ppl0O].x2, ppl0O].flag);
int 1 =1; i <2 * n; i++
ans += abs(cl[1].sum-dtmp);
dtmp=cl[1].sum;
update(l, pplil.x1, ppli!.x2, ppli!.flag);
ans+=abs(cl[1].sum-dtmp);
printf("sLld\n",ans);
0;
/*
7
-15 0 5 10
-5 8 20 25
15 -4 24 14
0 -6 16 4
2 15 10 22

pli+ n].flag = -1;

pplil.y = yl;
pplil.x1 = x1;
pplil.x2 = Xx2;
ppli].flag = 1;
ppli + nl.y = y2;
ppli + nl.x1 = x1;
ppli + nl.x2 = x2;
ppli + n].flag = -1;
sili+ 1] =yl;
s[i+n+ 1] = y2;
slli + 1] = x1;
slii +n+ 1] = x2;
sort(s +1, s+ (2 *n+1)); /000

sort(sl + 1, s1 + 2 *n+ 1);

sort(p, p+ 2 *n, cmp); /0O000OO0OOOOOCOOOOO

build(1, 1, 2 * n,s); /000000
memset(lazy, 0, sizeof(lazy));
update(1l, plO].yl, pl0].y2, pl0O].flag);
1l dtmp=0;
inti=1; i< 2 * n; i++
ans += abs(cl[1].sum-dtmp);
dtmp=cl[1].sum;
update(1, plil.yl, plil.y2, pli].flag);

ans+=abs(cl[1].sum-dtmp);
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